REM "Paint®™ by Conrad Chin

ON ERROR B8OTO 4290

DM BREAK GOSUB 3570:DEFINT a-z

DIM s!(72),c!'(72) ,xr (4) ,yr (4) ,r$(4),pal (15),as1(100),as2(100)
CALL &BCO2:PEN 1:PAPER 0

B0SUB 410

BOSUB B10O

BOSUB 2190

SPEED KEY 20,8:605UB 3970:o0k=-1

100 WHILE ok

110 GOSUB 2240

120 IF com THEN GOSUB 2340:k$="":B0T0 320
130 xl=uzyl=y

140 GOSUB 1320
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150 ch=((x1-x)DR{yl-y))

160 IF ch AND rb THEM BOSUE 235B0:G0DSUB 2540

170 IF ch THEN xZsx:yZuyixmxlryeyl:G0SUB 2190 x=x2ryeyZ:B0SUB Z2190:B0SUEB 1Z70: k%
=

1B0 IF k%=c$ THEN BGOSUEB &0

190 IF ks="g" THEN GOSUB 750

200 IF k$="r" THEN GODSUB 2010:1k$=""

210 IF k$=CHR%(127) THEN GOSUB 2090: k$=""

220 IF rb THEN BOSUB 350:80T7T0 320

230 GOSUB 2240

240 IF ks="p" THEN GOSUEB 1130

250 IF k$>"O"AND k$<{"S5S" THEN GOSUB 2190:G0SUB 1970:6B0SUB 2190

260 BOSUB 1410

270 IF ks=CHR%${1X} THEN SOUND 12%9,150,10,4:G605UB 2290

280 IF k$=CHR$(12) THEN BGOSUB I&10

290 IF k$=CHR%(19) THEN GOSUB IBOO

I00 IF k$=CHR${(1&) THEN ak=0

310 com=NOT(INKEY (21)JAND NOT(rb)

I20 WEND

330 CLE 0:col=13;x=320: y=200;: fx=x: fy=y

240 BOSUB 1370:6805SUB B10:B0TO 80

350 IF k$="a" THEN GOSUB Z2&40

360 IF ks=CHR%$(13I) THEN GOSUB Z&%0

I70 IF k$>"0" AND k$<"5" THEN GOSUEB Z2190:G0OSUB 2580:6G0SUEB 1970:G0SUB 2540:G0OSUB
2190

IB0O IF k$="p" THEN cl=col:G0OSUE 1130:B0SUE 2700

2590 RETURN

400 REM #&#% [NITIALISE ##=

310 MODE O0:CLG QOzref$="1234":r3(1)="1"ar$(2)="2":r$(T)="3"r%(4)="4"

420 GOSUB &40

420 PDKE 446312,0:DEG: BORDER ©

440 KEY DEF 50,0:KEY DEF 38,0:KEY DEF 9,0:KEY DEF &8,0,221:KEY DEF 14,0,32,32,16&6
450 RESTORE 440:FOR i=49 TD S2:READ a,b:KEY DEF a,0,i:KEY DEF b,O0:NEXT

450 DATA 13,44,14,85,5,57,20,56

470 DEF FNaiFf)=INT (RND®2%f)=%:DEF FNacs(f')=—ATNI(f!'/SOR{(—F"%f ! +1)}+90

480 ORIGIN 0, 14,0,440,400, 14

490 u$=CHR$(Z240) :d8=CHR%$(241):1%=CHR$(242) :r$=CHR3$(243):c%="5"

500 x=320:y=200:col=15:wa=15:sz=00:r=1tza7: fumu fymy

S10 RESTORE S20:FOR i=0 TO 7:READ a,b:WINDOW #i,a,b,25,25:NEXT

520 DATA 1,20,2,4,6,8,10,10,14,15,12,12,17,20,19,20

S30 FOR i=0 TO 7:PEN #i,15:NEXT

S40 i$=CHR$(15)+CHR%{4)+"X Y S G6GF R ,

S50 SYMBOL 241,7,56,44,128,484,546,7,0:SYMBOL 242,224,28,2,1,2,28,224,0

S&0 SYMBOL 243,24,36,b6,66,129,129,129,0:SYMBOL 244,24,356,66,566,66,36,24,0
570 SYMBOL 24%5,0,0,3,12,48,192,0,0:SYMBOL 244,0, 126, 86, 46, 66, 66, 126, 0: SYMBOL 247
2 255, 129,129,129, 129,129, 129,255

o580 com$=CHRS(1S)+CHRS (15} +"~ R A TF "+CHR$I(Z243+" "+CHR%${294)+" "+CHR%{245)+"
“+CHRS (241) +CHR$ (Z242)+* *

5990 spes="2%":gras="N"

&S00 col #="153": sp=é&: ab=0:rb=0: com=0: mo=0

&10 BOSUB 700

620 ul$=CHRS$ (1S5)+CHRS(4)+" _":el $=CHRE(1S)+CHRE (O} +" "

&30 FOR i=0 TD 15:pal$=pal $+CHRS(14)+CHRS (i ) +CHR$ (247) :NEXT:pal $=CHR$ {15} +CHRE (|
S)+pal $+CHRS (14) +CHRS (0)

&40 RETURM

&350 REM #s% SET UP PALETTE #==

&560 RESTORE &70:FOR i=0 TO 15:READ c:INK i,c:pal {i)=c:NEXT
&70 DATA 0,1,2,4,6,8,9,10,12,13,14,14,18,20,24,26

&80 RETURN

&90 REM s##% SET UP TABLES FDR sin , cos and arccos ###
JOO DEG:FOR i=0 TO T2:s'{i)=SIN{ie#5):c" (1 )=COS(i#5) :NEXT
710 FOR i=0 TD 99:asl{i)=FMacs (i /100) :NEXT

720 FDR 1=0 TO 9F9:as?{il=FfHacs{—1 /100) :NEXT

730 asl(100)=0:as2(100)=180: RETURN

740 REM #s# CHANGE GRAFH. PRNT. MODE ##s

750 SOUND 129,150,10,4:m0=mo+1: IF mo=4 THEN mo=0(

760 gras=MHIDS{"NXAD",mo+1, 1)

770 PRINTES,gra%;

780 GOSUB 3370

790 RETURN

BOO REM ### PRINT INFO LINE ===

810 PRINT i%;

B20 PRINT®1,RIBHTS(" "+5TR%({x),3);

B30 PRINT®#2,RIGHTS(" “"+STR$(y),3);}

B840 PRINTHES, spes;

B850 PRINT#4,col%;

B&0 PRINTES,gras;

B70 PRINT&#S,refs$;

880 RETURM

890 REM axa DRAW PALETTE #a=

F00 PRINT

910 PRINT pals;

920 PRINT®#7,MIDS (STR$(col),2)

730 LDCATE 1B, 1:PEN #:PRINT"P®3;

F40 RETURN

50 REM #8#% CHANBE SPEED #=#

940 SOUND 129,150,10,4:r=r+1:IF r>2 THEN r=0

70 spes=HMIDS("123%,r+1,1) :PRINTES, spes;

sp=r#4+2

F90 RETURN

1000 REM =% CHANGE INK [ SELECTED FPEN s&s

1010 SOUND 129,150,10,4:c=pal (col):LOCATE 18, 1:PEN#SL, 4: PRINTHS, CHRS(13) + 1"5
1020 PEN O:LOCATE x1,1:PRINT CHR$(247);

1030 k$="":WHILE k3$<>CHRS(13)

1040 PRINT#7,RIGHTS ("0"+MIDS (STR$(c), 2),2);

1050 k$=INKEYS

1060 cec+lk$=d$)—(k$=u%l:IF c>2&6 THEN c=0

1070 IF c<O THEMN c=2Z&

1080 INK col,c

1090 WEMD: k%$="":pal (col)l=c

1100 LOCATE 18, 1:PRINTSA,CHRS(13)+" P*;:PENNG, 1S:PRINTR7 ,RIGHTS ("0 "+MIDS (STRS (co
13 ,2¥,2)3

1110 RETURN

1120 REHM #ud SELECT NEW PEN %=s

1130 xi=caol+l:x2=x1:k%$=" ":5PEED KEY 30,5:G085UB F00:pe=1l5:zinwv=15
1140 PRINT CHR® (22} +CHR® (1) ;

1150 PRINT#7,RIBHTS ("0"+MID$ (STR$ (col),2),2);

1160 WHILE k$<>CHRS{13)

1170 inveinv XDR 1S:pe=pe XOR invi:LOCATE x1,1:PEN pe:PRINT CHRS(247);

:



1180
1190
1200
1210
1220
1230

ks=INKEY$: x2=x 1+ (k$ml8)—(k$=r$): IF x2=0 THEN x2=1&

IF x2=17 THEN x2=1

IF k%="c® THEN GOSUE 1010

IF k%="r* THEN PRINT CHR®(7);:G05UB &&0

col=xi-—1

IF x2<™1 THEN PEN 15:LOCATE x1,1:PRINT CHR$ (Z247) i :PRINTH7 ,RIGHT®("O"+MID® (

STR$ (x2-1),2),2)}

1240
1250
1260
1270
1280
12590
1300
1310
1320
1330
1340
1350
13460
1370
1380
1320
1400
1410
1420
1430
1440
1450
14460
1470
1480
1450
1550
1510
1520
1530
1540
1550
1540
1570

®1=w 2 WENMD

col=xl1=1:PRINT CHR®% (22)+CHRS(0Q)

SPEED KEY 20.,B

col $=RIGHTS ("0"+MID% (STRe (cal) ,2),2)

IF ab=0 THEN PRINT CHRS(23)+CHRS$(1);:PLOT #x,fy,wa:PLOT fx,fy,col
BOSUB 3970

wa=col : k$="":GOSUBE 810:PRINT CHR% (23} +CHRS (mo) { : RETURN

REM ##% UPDATE X and Y COODRDS ###

Es=INKEY®

kmx+{ (k$=r$) aspa2e (x< (640-2#sp) ) ) —((k$=1%) #apl* (x 2Z2es5p—4))
y=y+{ lk$=us) ssp* (y< (3B4-sp) ) ) —( (kS=ds) #sp* {y>sp—2))

RETURN

REM ##& PRINT X and ¥ COORDS =#=

PRINTH#1 ,RIGHTS (" “+S5TR%(x),3)}

PRINT#2,RIGHT®(" "+STR${y),3);

RETURN

REM ##% AIRBRUSH ROUTINE #%%

IF NOT(ab) THEN RETURM ELSE GOSUB Z2190:WHILE ab

BOSUB 1520

kg="": YHILE k$<>CHR®(1X) AND ab

FOR i=1 TO S

FLOT x+FNa(sz),y+FNa(sz),col iNEXT

SOUND 129,0,30,3,0,0;1

GOSUBR 1320:605UB 1370

WEND

SouUMD 129,0,0,0:6805UB 1370

WEND: SPEED KEY 20,8:B805UB 2190

GOSUE Z970: RETURN

k#="":SPEED KEY 10,2

GOSUE 1&B0:WHILE k$<>CHR%(13) AND ab

xlmxzyl=y

BOSUB 1320

grl=szisz=sz+( (k$=CHRS (LF7))1#2% (s52<150) )= ( (k$=CHRS (LF&L) ) %22 (sz220) )
IF x1<>x OR yi1<>y OR szl<’sz THEN ¥P=miyP=yiu=uliy=ylesz2=sz:sz=sz1:605UR 1

sB0: xmx2:y=y2isr=sz2: BOSUE 1&B80:605UB 1370

1580
1590
15600
1610
1620
1630
1540
1650
1660
1670
1480
14550
1700
1710
1720

1730
17840
1750
17&0
1770
1780
1790
1800
1810
1820
1830
1840
1850
1B&0
1870
)
1880
1890
15900
1910
1920
fx
1930
1940
1950
19460
1970
1980
1990
2000
2010
END
2020
2030
2040
2030
2080
2070
2080
2090
2100
2110
2120
2130
2140
2130
21460
2170
2180
2150
2200
2210
2220

IF k$s="p" THEN GOSUE 1130

IF k$="g" THEN GOSUB 730

IF k$="a" THEMN ab=0

IF E$>"0" AND k$<"5S" THEN GOSUB 14680:G0SUE 1970:60SUE 1480
IF k$=c$ THEN GOSUB %40

IF k$=CHR$({127) THEN GDSUB 20%0:k$=""

IF ks="#" THEN G0OSUB 1730

IF k$="r" THEN GOSUEB 2010:k$=""

WEND: GOSUE 1480

SPEED EEY 1,1:RETURN

PRINT CHR$(23)+CHR®(1)3;

MOVE x-ez,y-sz:DRAWR O,2%sz,15:DRAWR Z#sz,0:DRAWR O,-2#sz:DRAWR -2#sz,0
PRIMNT CHR®%(Z23Z)+CHR® (mo};

RETURM

REM ##% FILL IN SEQUARE CURSOR =%%

GOSUB 1680:SOUND 129,150,10,4:FOR i=(y-sz) TO (y+sz) STEF 2
MOVE (x-sz),i:DRAWR 2#sz,0,col
MEXT: GOSUB 1&B0O
GOSUB I97T0
RETURN
REM ##4 DRAW FILLED ELLIPSE ##=
IF o2=0 THEM aa=0-180#%{(al<0):E80T0 1840
IF ol=0 THEN aa=90-1B0O#(02<{0):60T0 1840
aa=ATN{aZ2/ol}
IF aa<0 THEN aa=aa+180-180#{02<{0):60T0 1840
IF aa>? THEN aa=aa-—180#{(ol<0}
k=SER (ol*ol+oZ2%o2)
y 1=0:bb=%0+aa e
(ylSk}<1:bb=asl {100U= +aa
:.:iﬁiﬂrlﬁihhi—nllﬁlﬂihhl*HF::I:Ihﬂ*'lll(I.ﬂﬂ'l'f'lfk'l+Il=HE=FH*ﬂI*EﬂEIhh?—nElEthhb

MOVE x1,y1+fy:DRAW x2,yl+fy,col

y1=y1+2: WEND

w1l==2:bb=%0+aa

WHILE (yl/k)>-1:bb=as2(-100%yl/k)+aa

% 1=n1#C0OS (bb)-n2#SIN{bb) +fx:bb=—asZ (-100%y1 /k)+aa:x2=n1#COS(bb)-nZ*5IN{bb) +

MOVE =1,yl+fy:DRAW x2,yl+fy,col

wi=yl=2:WEND

RETURM

REM ### CALL UP REFERENCE FOINT w##

k=ASC (k%) -48: IF r$(k)< >CHR®(244) THEN RETURM

Exr k) zy=yr (k)

BOSUB 3I970: RETURNM

REM ##% SET UP REFERENCE POINT %=

SOLIND lE?,lSG,IO,#:HHILE (K$<"1" DR k$>"4") AND k$<>"a":k$=LOWERS (INKEYS$): W

IF k$="a" THEN 2070

k=ASC (k%) -48: IF rs{k)=CHR%(245) THEN RETURM
SOUND 129,150,108z xr k) =nzyr(k)=y:rsik)=CHREL(Z244L)
refs=rs{l)+r$(2)+rB(I1i+rEid)

PRINTH#S,ref®;

GOSUE F970:RETURN

REM ##% DELETE REFERENCE FDINT #=%

FrFE0:FOR i=1 TO 4:IF r%(i)}=CHR%(Z45) THEM rr=-1
NEXT:IF NOT(rr) THEN 2170

FRIMT CHRS$(7)3:WHILE (k#%<"1" OR K$>*4%) AND k$<:"a":kS=LOWERS (INFEYS) : WEND
IF ks="a" THEN 2170 '

k=ASC{k$)—-48: IF rei{k)< >CHR$(2454) THEN RETURM
PRINT CHR$ (7)3:r${k)=MIDS(STR® (L), 2]}
reft=rsill)i+rs(2)+rSil)+rEid)

PRINTHG, refE;

GOSUB 5970: RETURN

REM #=+ FLOT CURSOR AMND F.FP. =##

PRINT CHR$(23) *CHR® (1) 5

MOVE x-8,y:DRAWR 16,0, 15:MOVER -8, -B: DRAWR O, 1&
FLOT $x,¥vy,col

FRIMNT CHR®(2Z) +CHR$ (ma) i



2230

2280
2230
2260
2270
2280
2290
2300
2310
2320
2330
2340
2350
2360
2370
<380
2390
2400
2810
2420
2430
2440
2450
2460
2470
=480
2490
2900
23510
a0
2330
2540
2930
2540
2570
2580
2370
2600
2610
2620
2630
=640
2650
26460
2570
25680
Z246F0
2700
2710
2720
TR0
2740
2730
2760
LAl

RETURM

FRINT CHRS$(Z2Z)+CHR$ (1) :

FLOT $ux,¥v.col

PRINT CHR®${2Z) +CHRS {ma) §

RE TURM

REM =#& SET FPOSITION OF F.P. ==&

GOSUB Z2190:PRINT CHR$(ZZ)+CHR$ (1)

fr=x 1 Fy=y

GOsSUB 2190

RETURMN

REM ### SELECT COMMAND ==&

LOCATE 1,1:sh=-1:1z=15:PRINT com$;

PRINT CHR®(Z22Z)+CHRS{(1)::SPEED KEY 20,10
GOSUB ZZ40

MWHILE sh AND k%< *CHR®(13)

LOCATE z,1:FRINT el$;

ESaINEKEY$

Z=z+2Z® (L$=CHRS (4F&)AND z *3) -2« (k$=CHRS (LF7)AND z<17)
LOCATE z,1:FPRINT ul$;:

BR=ENOT{INKEY € 213 )

WEMD

FRINT CHRS$(22)+CHRS(0) 3

GOSUB 2470:com=0: GOSUEB 3970

SPEED KEY 10, 1:RETURN

IF k3<*CHR$(13} THEN GOSUB B10:RETURN
1=1(z-11/2:0N 1 GOSUB 2430, 2510, 3210,8000, 3340, 2770, 2750, 280
GOSUE 81i: RETURMN

REM ==# SWITCH ON AIRBRUSH #++«

ab==-1

RETURM

REM #=# ROUTINES FOR DRAWING RUBBER BAND ===
PRINT CHR$(2Z)+CHR% {1}

MOVE x,y:DRAW fx,fy,.col:za=u:ya=y

FRINT CHE$ (23 +CHR®(mo? ;

RETURM

PRINT CHR®(Z2Z)+CHR%(1)3

MOVE :a,ya:DRAW fx,fy,col

FPRINT CHR®(Z3) +CHRS$ (mo) §

RETURM

REM #+% SWITCH ON RUBBER BAND ==
ro=-1:605UE 2190:G05UB 2540:605SUB 2190
FETURM

REHM ##% SWITCH OFF RUBBER BAND ===

rb=0: GOSUE 21%0:G0SUB 2580:6G0SUB 2190

GOSUE I970:RETURN

REM #=+ FlX RUBEBER BAND ===

rb=0:605SUE Z190:60SUE 2580U:MOVE xa,ya:DRAW #:,+y,col :G0OSUB 2190:RETURN
GOSUB Z190:MOVE =,y:PRINT CHRS(23)+CHRS(1):
DRAW fu,fy,cl:DRAW x,y.col

GOSUR 2190

RETURMN

REM #=# LINE ROUTINE #=»

GOSUER Z190:HOVE fx., fv:DRAW hayycol:BOSUE Z190:CO0SUEB Z2250: RETURN
REM #+# CIRCLE ROUTIME #*=#

FRINT"SOLID (Y /M7 ":WHILE kB542"¥Y" AND k% >"MN" AMD kLS >“A": kS=UPPER$ ({ INKEY%)

tWEND

2780
27590
i = 18 ]
2810
2820
ZBIO
B4
2850
28&0

IF k3="A" THEN RETURN

sclid=0:IF k%$="¥" THEN solid=-1

BOSUE Z190:dusfu-nidy=fy-y

ri1=S0R (dxxdx+dy=dy ) :MOVE fu+rl,fy:IF solid THEN 2840

FOR 1=1 TO 72:DRAW fx+rlsc' i1}, fy+rless'{1),coliNEXT

DRAW fx+rl,fy:G0TO ZB7O0

st==rliIF Fy+st 0 THEN st==+y

fin=rl:lF fy+fin.:383 THEN fi1n=3BI-fy

FOR 1=st TO fin STEF Z::1=S5S0R{rlerl-121):M0OVE $fx-21,fy+1:DRAN fu+xl, fy+i,co

L:MNEXT

2870
<880
2890
L9300
2900
2910
2920
2930
2940
2950
2960
2970
2980
Z990
SR
3010
S020
3030
2040
2050
3060
=070
2080
2090
3100
3110

120
3130

3140
3150
2160
S 170
3180

GOSUE 2190: RETURN
REM #=# ELLIFSE ROUTINE ===«

PRINT:FPENM 15: INFUT: "Ratio"iec*®:soli1d=0
ecE=UPFERS (ec®) : k=INSTRK{ecs, "S"): IF k20 THEN ect=MIDEt{ec®,2}l:1soli1d=-1:G0TO

f3=0zec=VAL (ec%):IF ec<0 THEN ec=ABS(ec):IF NOT(solid) THEN $3T=-1
IF ec=0 THEM RETURMN

IF ec>99%9 OR ec<l THEN RETURMN

IF #3 THEN GOSUB X170 ELSE:sa=0:ea=72

GOSUBE 2190

dui=x-fxidy=y=fy:ir1=5GR (dxedx +dy=dy]

IF dx=0 AND dy=0 THEN GOSUB Z190:RETURN
rZ=slec/100)=r1

IF dx=0 AND dy 0 THEM an=90:G0T0O 3040

IF du=0 AND dy<0Q THEM an=270:60T0 30&0

IF dy=0 AND dx >0 THEN an=0:G30TO J0&s0

IF dy=0 AND d:<0 THEM an=1B0:G0T0 I0&0
an=ATN{dy/dxlz [F dx<0 AND dy >0 THEN an=180+an:B0OT0O I0&0
IF dx<0 AND dy<0 THEM an=an+1B0:60TO I0&0

IF dx >0 AND dy<Q THEM an=I&l+an
nl=sri=CO0S{anizn2=rZ2%#SIN{an)

ol=ri#5IN{an) :o2=r2+C05{an)

IF solid THEM GOSUEB 1790:G0T7T0O I150

xO0=nl#c! (sa)l-n2+s’ (sal+fx:yl=plec' (sal+oles' (sal+fy
HMOVE =0, y0

IF sa*ea THEN sa=ea+727

F
:ﬁﬁni::TtIuHEE 72)=n2#s' (i MOD 72)+fx:yn=ol#c' (i MOD 72)+o02#s'(i MOD 72)+fy

DRAM xn,vyn,col :NEXT

GOSUE 2190

RETURN

PRINT: INPUT:; "Start "i;sa:IF sa>359 OR sa<0 THEM 3170

PRINT: INPUT; "Finish "iea:dif=(sa-ea):IF ea>35%9 DR ea<0 OR ABS(dif!<10 OR di

>3350 THEN 3180

3190
3200
3210
3220
2230
3240
32350
3260
270
Z280
32790
S50

ea=ea/S:sa=sa’/S5: RETURN

REM ### PRINT TEXT ROUTINE ===

GOSUB B10: G0SUBR 2190: TAGHRT

yl=y—-1&:x1=x:SPEED KEY 30,2:B0SUB I3I0

E¥="":WHILE k%<:>CHRS({13Z}

k$=INKEY%: IF k$="" THEN 3290

GOSUE IIZ0:PLOT 700,0,col

k=ASC(k$)zIF k>31 AND k<127 AND x1<4&0F THEN MOVE x1,y:PRINTE7, k$;:ul=ul+32
IF k=127 AND x13>31 THEN xi1=x1-32:MOVE x1,y:PRINTH7," "j
GOSUB 3330

WEMD

TAGOFFR7: GOSUE 3330:60SUB 2190



1310 SPEED KEY 20,8:RETURN
TIZ0 REM ##= DRAW TEXT CURSOR =#%
o) PRINT CHRY(Z2Z)+CHRE(1)}§:MOVE x1,v1:DRAW x1+32,v1l,; 15:PRINT CHR®(ZZ)+CHRS (mo}

IIZ40 RETURM

I350 REM #=x DRAW ARC ROUTIME w#=x

I360 PRINT:PEN 15: INPUT: "Angle "jan

XI70 IF an<d THEN an=ABS{an):f3=—1 ELSE f3=1
X80 IF an<3d OR an>355 THEN RETURN

S350 an=an/2idim{x—FfxIsfIidy=({y—Ffy)i#f3: IF dxz=0 AND dy=0 THEM RETURMN
400 GOSUB 2190

410 aZ=(S0R (dxwdx+dysdy) ) r2

420 IF an=90 THEN aX=0 ELSE al=aZ/TAM{an)
X430 IF dx=0 THEM al=90-1B0%{dyw<0):E0TO Z480
440 IF dy=0 THEN al=-1B0%{dx<0):60T0O 2480

3430 al=ATN(dy/dx)

34860 IF dy<0 THEN al=al+1B80-180% (dx >0)

3470 IF dy>0 THEN al=al-1BO# (dx<0)

3480 ri=S0R(aZ#al+aZ#a?)

S490 sa=90+al-an:ea=90+al+an

3500 IF F3=1 THEN a=x:b=y:a0=fx:bO=fy ELSE a=fx:b=fy:aO=x:bO=y

3510 x0=a-a2*CO0S(al)+a3=SIN(al)

3T20 yO=b-aZ#SIN{al)-aZ*COS{al)

3530 MOVE a,b

3540 FOR i=sa TO ea STEP S:DRAW ®x0+r 1#C0S(i ), yO+r 1#SIN(i) ,col :NEXT: DRAN a0,b0,co

Soa0 BOSUB 2170

S260 RETURN

3570 MODE 1:CALL LBCOZ:PEMN 1:PAPER 0:CLS
3380 WINDOW 1,40,1,25

3590 KEY DEF 14,1,154,16,14:KEY DEF 9,1:CLS:SPEED KEY 3I5,2:PRINT" ":END
J&00 REM #=# LOAD IN NEW PICTURE ##=
34610 PRINT:PRINT"<L>-LDAD , <A>-ABORT";
3620 WHILE INKEYS$<>"":WEND

3630 k$="":WHILE k$<>"L" AND k$<>"A":k$=UPPERS ( INKEYS$) : WEND
+640 IF ks="A" THEN 37B0O

I450 PRINT:GOSUB 2190

I6460 LOAD™ '™

2670 OPENIN®'pal ™

J6B0 FOR i=0 TO 135

3490 INPUTHZ,pal (i)

I700 MNEXT

3710 FOR i=1 TOD 4

3720 INPUTHF , ur i) ,yrl{i),redi)

730 MNEXT

2740 CLOSEINM

S0 FOR i=0 TO 15:INK i,pal{i):MNEXT
S760 ref$=r$(l)+r$(Z2)+r8(3)+rs(4)

770 BOSUB 2150

3780 GOSUB 3I970:6G0S5UB B10: RETURNM

3770 REM =#= SAVE CURRENT PICTURE =##
3800 PRINT:PRINT"<S>-SAVE , <A>-ABORT";
SB10 WHILE INEKEYS®<>"":WEND

820 k$="":WHILE k$<{>"5" AND k$<>"A":k$=UPPERS% (INKEY®$) : WEND
=830 IF k$="A" THEN 3940

J840 PRINT:SPEED WRITE 1:GOSUE 2190
38350 PRINT:PRINT" #% SAVING ##"j
8860 SAVE" 'screen”;b, 49152, 16384

=870 OPENOUT "'pal"™

3880 FOR i=0 TO 15

T890 PRINT#9,pal (i)

P00 NEXT

3910 FOR i=1 TO 4

2920 PRINTH#F  xr i) vyrii) ,reii)

ZFI0 NEXT

940 CLOSEOQOUT

=S990 GOSUB 2190

I940 GOSUB I970:BOSUB 810

2970 WHILE INEEYS$<>"":WEMD: k$=""

2980 RETURN

3390 REM #=#% INFILL ROUTINE =a#

4000 DIM %1(15),x2(15),y(15),d{15)

4010 EO5UB Z1%0

020 mx=myIgy=y

050 bg=TEST (x,v):d=2

4040 WHILE TESTR(-4,0)=bg AND XPOS>=0:MWEMND:xz1=XPOS

4050 MOVE x,v:WHILE TESTR(4,0)=bg AND XPOS<&40:WEND:x2Z2=XP0OS

JO&0 s=l:xlil)=xl:x2{l)=xZiy(li=y=-d:d(li==d

4070 MOVE xl,viks=INKEY$: IF k$="a" THEN s=0:E0T0 41350

4080 WHILE TESTR(4,0)<{>bg AND XPOS<x2:WEND:xI=XPDS-4:IF »JT=x1 THEN MOVE xl1+4,y:W
HILE TESTR(-4,0)=bg AND XPOS>=0:WEND:xI=XPDS

4090 IF (x1-x3)>4 THEN GOSUEB 4180

4100 x1l=x3:zIF (x2-x11<5 THEN 4150

110 x3Z=xl

4120 MOVE x3,yv:WHILE TESTR{4,0)=bg AND XFOS5<{440:WEND::3=XFOS:MOVE x=1+4,y:DRAN =3
=4, ¥ycol

4120 IF ABS(x3—-x2) >4 THEN GOSUB 4230

4140 x2uxFiymy+d: IF y<0 OR v>383 THEN 4150 ELSE 4070

4150 IF s=0 THEN ERASE x1,x2,y,dix=sx:y=sy:E0SUB 21790: RETURN

B1&60 xlmxlislix2exZigliy=yis):d=dis):s=s—1:60T0 4070

J170 RETURN

4180 yil=my—d:MOVE »x1,v1

4190 WHILE TESTR(-4,0)<>bg AND XPOS>:x3:WEND: x4=XPOS

4200 IF xd4=x3F THEN RETURMN

4210 IF s<15 THEN s=s+l:xl(slexIixZisl=xd4+4:y(s)l=ylidis)=—d

4220 RETURN

4230 IF SBN(x3~xZ)=1 THEN x4my2:xS=x3:yl=y—d ELSE x4=xJ:xTOmxZiyl=y
4240 MOVE =z4-4,yvl:WHILE TESTR{(4,0)< *bg AND XPOS<xS:WEND:x4=XFPOS

4250 IF x4=x5 THEN RETURN

#3260 IF 8<13 THEN s=s+lixl(sl=xd4-4:x2(s)l=xS:yi(sl=yl:dis)=SBN(x2-x3)*d
4270 RETURN

4280 REM =%% ERROR HAMDLING ROUTIMNE =x=

4290 IF ERR=7 THEN mem=FRE (""):PRINT CHR$(7)};:RESUME

;gﬁﬂ IF ERR=25 THEN PRINT" INCORRECT FILE“"CHRS$(7);:FOR i=1 TO 2000:NEXT:RESUME 37
4310 MODE 1:CALL %BCOZ:PEN 1:PAPER 0:CLS

4320 WINDOW 1,40,1,25

4330 KEY DEF 1&6,1,154,16,14:KEY DEF 9,1:CLS:SPEED KEY 30,2

4340 PRINT"ERROR NUMBER "ERR" IN LIMNE "ERL

4350 END



